

Exponential Stability of Non-uniform Timoshenko Beam With Indefinite Damping Under Boundary Control

Kouassi Ayo Ayébié Hermith¹, Diop Fatou N.² & Touré K. Augustin³

¹ Institut National Polytechnique Houphouët-Boigny Yamoussoukro, BP 1093 Yamoussoukro, Côte d'Ivoire

² Ecole Supérieure Africaine des Technologies de l'Information et de la Communication, 18 BP 1501 Abidjan 18, Côte d'Ivoire

³ Institut National Polytechnique Houphouët-Boigny Yamoussoukro, BP 1093 Yamoussoukro, Côte d'Ivoire

Correspondence: Hermith Kouassi, Institut National Polytechnique Houphouët-Boigny Yamoussoukro, BP 1093 Yamoussoukro, Côte d'Ivoire

Received: October 25, 2023 Accepted: December 15, 2023 Online Published: January 30, 2024

doi:10.5539/jmr.v16n1p52 URL: <https://doi.org/10.5539/jmr.v16n1p52>

Abstract

In this paper we study the stabilization of a non-uniform Timoshenko beam with indefinite damping terms under boundary control and prove how the damping terms can affect the decay rate asymptotically. Using the theory of perturbed problems, we obtain the stability and establish the spectrum determined growth condition for the problem. Moreover, when the two damping terms are indefinite, we provide a condition to obtain the exponential stability.

Keywords: beam equation, semigroup theory, asymptotic analysis, Riesz basis, exponential stability

1. Introduction

We study the following variable coefficients Timoshenko beam with two indefinite damping terms under boundary feedback controls given by:

$$(S) : \begin{cases} m(x) \frac{\partial^2 \omega}{\partial t^2} - \frac{\partial}{\partial x} \left(K(x) \left(\frac{\partial \omega}{\partial x} - \varphi \right) \right) + m(x) b_1(x) \frac{\partial \omega}{\partial t} = 0, & 0 \leq x \leq 1, t > 0, \\ I_m(x) \frac{\partial^2 \varphi}{\partial t^2} - \frac{\partial}{\partial x} \left(EI(x) \left(\frac{\partial \varphi}{\partial x} \right) \right) + K(x) \left(\varphi - \frac{\partial \omega}{\partial x} \right) \\ + I_m(x) b_2(x) \frac{\partial \varphi}{\partial t} = 0, & 0 \leq x \leq 1, t > 0, \\ \omega(t, 0) = \varphi(t, 0) = 0, & t > 0 \\ EI(1) \frac{\partial \varphi}{\partial x}(t, 1) + \alpha \varphi(t, 1) + \beta \frac{\partial \varphi}{\partial t}(t, 1) = 0, & t > 0 \\ K(1) \left(\varphi(t, 1) - \frac{\partial \omega}{\partial x}(t, 1) \right) = 0. & t > 0 \end{cases} \quad (1)$$

Here α and β are positive feedback constants, $\omega(t, x)$ is a lateral displacement and $\varphi(t, x)$ is the bending angle of the beam at position x and time t . The length of the beam is chosen to be unity. The coefficients $m(x) > 0$ and $K(x) > 0$ are respectively the mass density and the shear stiffness of a cross section. Furthermore, $I_m(x) > 0$ is the rotatory inertia, $EI(x) > 0$ is the flexural rigidity, $b_1(x)$ and $b_2(x)$ are continuously differentiable damping terms that are allowed to change signs in $[0, 1]$.

Due to indefiniteness of functions $b_1(x)$ and $b_2(x)$ on interval $[0, 1]$, we impose the following assumptions

$$\int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)} \right)^{\frac{1}{2}} d\xi > 0 \quad (2)$$

and

$$\int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)} \right)^{\frac{1}{2}} d\xi > 0, \quad (3)$$

where $\left(\frac{K(x)}{m(x)} \right)^{\frac{1}{2}}$ and $\left(\frac{EI(x)}{I_m(x)} \right)^{\frac{1}{2}}$ are wave speeds. These assumptions, as we shall see, are necessary to ensure that the high frequencies of the system (S) are in left half complex plane. For convenience, we always assume that:

$$m(x), K(x), I_m(x), EI(x) \in C^2 [0, 1]. \quad (4)$$

The same problem was investigated in (Wang, 2004) with $\alpha = 0$ and $\beta = 0$. In (Feng et al, 2001) the authors study a constant coefficients Timoshenko beam system without damping with boundary controls and obtain Riesz basis property. The boundary stabilization and boundary control of Timoshenko beam system have been investigated by many researchers with different boundary dampers and controllers. We may cite the work of (Akian, 2022), (Feng et al, 2001), (Liping et al, 2019), (Nasser, 2011), (Nasser, 2013), (Wang, 2004) and (Xu & Feng, 2002).

There are two commonly used approaches to study these perturbed systems.

The first is due to (Huang, 1985), which says that if the resolvent $R(\lambda, A + B)$ is uniformly bounded along the imaginary axis, then the operator $A + B$ generates an exponentially stable semigroup on the energy space.

The second one is due to (Renardy, 1993) and (Xu & Feng, 2002) which says that the semigroup generated by the operator $A + B$ with bounded linear operator B will satisfy the spectrum determined growth condition if the operator A (not necessarily skew-adjoint) satisfies the following property:

There exists $N > 0$ such that the spectrum $\sigma(A) = \{\lambda_n\}$ of A is separated and simple when $|\lambda_n| \geq N$ and there is a sequence of generalized eigenfunctions of A that forms a Riesz basis in the state Hilbert space.

There is a third approach, namely the Riesz basis approach, which shows that the generalized eigenfunctions of system form a Riesz basis, and then deduces the spectrum determined growth condition and various stability results from the eigenvalue distribution of the system, see (Wang & Yung, 2006), (Wang et al, 2004) and (Wang, 2004).

In this paper, we use the second approach because we need the spectrum determined growth condition of system to prove the exponential stability. Eventually, asymptotic expressions of the eigenvalues of system (S) are obtained and the spectrum determined growth condition of system is deduced by second approach and stability is established.

The rest of the paper is organized as follows. In section 2, we convert system (S) into an evolution equation in an appropriate Hilbert space framework, and then prove that the system generates a C_0 -semigroup.

In order to solve the eigenvalue problem, we shall use a space-scaling transformation to derive an equivalent eigenvalue boundary problem and this leads to much simpler asymptotic expansions. In section 3, we shall apply technique in (Wang, 2004) to the fundamental solutions of the eigenvalue boundary problem, and then use results to expand the characteristic determinant in deducing the asymptotic behavior of the eigenvalues. Furthermore, in the last section, we also obtain conditions for the exponential stability of the system for indefinite damping terms. We shall operate under the following conditions: $0 < \beta < r_2(1)EI(1)$ and $\beta > r_2(1)EI(1)$.

2. State Space Setup and Eigenvalue Problem

We start our investigation by formulating the problem on some state Hilbert space. Let

$$\mathcal{H} = V_E^1 [0, 1] \times L_p^2 [0, 1] \times V_E^1 [0, 1] \times L_m^2 [0, 1], \tag{5}$$

where

$$V_E^k [0, 1] = \{f \in H^k [0, 1] : f(0) = 0\}, \quad k = 1, 2, \tag{6}$$

and let $H^k [0, 1]$ ($k = 1, 2$) be the usual Sobolev space of order k . The inner product in \mathcal{H} is defined by

$$\begin{aligned} \langle Y_1, Y_2 \rangle_{\mathcal{H}} &= \int_0^1 K(x) (\varphi_1 - \omega'_1) \overline{(\varphi_2 - \omega'_2)} dx + \int_0^1 m(x) z_1 \bar{z}_2 dx \\ &+ \int_0^1 EI \varphi'_1 \bar{\varphi}'_2 dx + \int_0^1 I_m \psi_1 \bar{\psi}_2 dx, + \alpha \varphi_1(1) \overline{\varphi_2(1)} \end{aligned} \tag{7}$$

where $Y_k = (\omega_k, z_k, \varphi_k, \psi_k)^\tau$ with $k = 1, 2$, in which the superscript τ denotes transpose of a vector or a matrix, and the notation $'$ denotes the derivative with respect to x .

In view of system (S), we define two linear operators \mathcal{A} and \mathcal{B} in Hilbert space \mathcal{H} respectively by

$$D(\mathcal{A}) = \left\{ (\omega, z, \varphi, \psi)^\tau \in \mathcal{H} \left| \begin{array}{l} \omega, \varphi \in V_E^2 [0, 1], z, \psi \in V_E^1 [0, 1] \\ EI(1)\varphi'(1) = -\alpha\varphi(1) - \beta\omega(1), \\ \varphi(1) = \omega'(1) \end{array} \right. \right\}, \tag{8}$$

$$\mathcal{A} \begin{bmatrix} \omega \\ z \\ \varphi \\ \psi \end{bmatrix} = \begin{bmatrix} z \\ \frac{1}{m} (K(\omega' - \varphi))' \\ \psi \\ \frac{1}{I_m} (EI\varphi')' - \frac{K}{I_m} (\varphi - \omega') \end{bmatrix}, \quad \forall \begin{bmatrix} \omega \\ z \\ \varphi \\ \psi \end{bmatrix} \in D(\mathcal{A}), \tag{9}$$

and

$$\mathcal{B} \begin{bmatrix} \omega \\ z \\ \varphi \\ \psi \end{bmatrix} = \begin{bmatrix} 0 \\ -b_1 z \\ 0 \\ -b_2 \psi \end{bmatrix}, \quad \forall \begin{bmatrix} \omega \\ z \\ \varphi \\ \psi \end{bmatrix} \in D(\mathcal{B}) = \mathcal{H}. \tag{10}$$

If we let $Y_t = (\omega_t, z_t, \varphi_t, \psi_t)^\tau$, then the system (S) can be rewritten into an abstract evolution equation in \mathcal{H} as following:

$$\begin{cases} \frac{d}{dt} Y(t) = (\mathcal{A} + \mathcal{B}) Y(t), & t > 0, \\ D(\mathcal{A} + \mathcal{B}) = D(\mathcal{A}), \\ Y(0) = (\omega(0), \omega_t(0), \varphi(0), \varphi_t(0))^\tau. \end{cases} \tag{11}$$

We have the following results.

Lemma 1. *The operator \mathcal{A} given by (8) and (9) is skew-adjoint operator. See (Wang, 2004, Chapter 9)*

Theorem 1 *Let \mathcal{A} and \mathcal{B} be given by (9) and (10), then $\mathcal{A} + \mathcal{B}$ have compact resolvent and $0 \in \rho(\mathcal{A} + \mathcal{B})$.*

Proof. We first prove that $0 \in \rho(\mathcal{A} + \mathcal{B})$, which is equivalent to show that $(\mathcal{A} + \mathcal{B})^{-1}$ exists.

for any $G = (g_1, g_2, g_3, g_4)^\tau \in \mathcal{H}$, we must found a unique $F = (f_1, f_2, f_3, f_4)^\tau \in D(\mathcal{A} + \mathcal{B})$ so that

$$(\mathcal{A} + \mathcal{B}) F = G, \tag{12}$$

$$f_2(x) = g_1(x), \tag{13}$$

$$f_4(x) = g_3(x), \tag{14}$$

$$(K(x)(f_1'(x) - f_3(x)))' = m(x)(b_1(x)f_2(x) + g_2(x)), \tag{15}$$

$$(EI(x)f_3'(x))' - K(x)(f_3(x) - f_1'(x)) = I_m(x)(b_2(x)f_4(x) + g_4(x)). \tag{16}$$

Using (13) and (14) one obtains f_1 and f_3 . From (15), (16) and the boundary conditions $f_1'(1) - f_3(1) = 0$, we get

$$-(f_1'(x) - f_3(x)) = \frac{1}{K(x)} \int_x^1 m(s)(b_1(s)g_1(s) + g_2(s)) ds. \tag{17}$$

Substituting this into (13) and using (14), (16), (17) and the boundary condition $f_3'(1) = -\alpha f_3(1) - \beta f_4(1)$, we get

$$\begin{aligned} -\alpha f_3(1) - \beta f_4(1) - EI(x)f_3'(x) &= \int_x^1 I_m(r)(b_2(r)g_3(r) + g_4(r)) dr \\ &+ \int_x^1 \int_r^1 m(s)(b_1(s)g_1(s) + g_2(s)) ds dr, \\ -\alpha f_3(1) - EI(x)f_3'(x) &= \int_x^1 I_m(r)(b_2(r)g_3(r) + g_4(r)) dr \\ &+ \int_x^1 \int_r^1 m(s)(b_1(s)g_1(s) + g_2(s)) ds dr + \beta g_3(1), \\ \frac{-\alpha f_3(1)}{EI(x)} - f_3'(x) &= \frac{1}{EI(x)} \int_x^1 I_m(r)(b_2(r)g_3(r) + g_4(r)) dr \\ &+ \frac{1}{EI(x)} \int_x^1 \int_r^1 m(s)(b_1(s)g_1(s) + g_2(s)) ds dr \\ &+ \frac{\beta}{EI(x)} g_3(1) \\ -\alpha f_3(1) \int_0^x \frac{1}{EI(\theta)} d\theta - \int_0^x f_3'(\theta) d\theta &= \int_0^x \frac{1}{EI(\theta)} \int_\theta^1 I_m(r)(b_2(r)g_3(r) + g_4(r)) dr d\theta \\ &+ \int_0^x \frac{1}{EI(\theta)} \int_\theta^1 \int_r^1 m(s)(b_1(s)g_1(s) + g_2(s)) ds dr d\theta \\ &+ \int_0^x \frac{\beta}{EI(\theta)} g_3(1) d\theta. \end{aligned}$$

Using the boundary conditions $f_3(0) = 0$ we obtain:

$$\begin{aligned}
 -\alpha f_3(1) \int_0^x \frac{1}{EI(\theta)} d\theta - f_3(x) &= \int_0^x \frac{1}{EI(\theta)} \int_\theta^1 I_m(r) (b_2(r)g_3(r) + g_4(r)) dr d\theta \\
 &+ \int_0^x \frac{1}{EI(\theta)} \int_\theta^1 \int_r^1 m(s) (b_1(s)g_1(s) + g_2(s)) ds dr d\theta \\
 &+ \int_0^x \frac{\beta}{EI(\theta)} g_3(1) d\theta.
 \end{aligned}$$

For $x = 1$, we get

$$-\alpha f_3(1) \int_0^1 \frac{1}{EI(\theta)} d\theta - f_3(1) = \chi$$

where

$$\begin{aligned}
 \chi &= \int_0^1 \frac{1}{EI(\theta)} \int_\theta^1 I_m(r) (b_2(r)g_3(r) + g_4(r)) dr d\theta \\
 &+ \int_0^1 \frac{1}{EI(\theta)} \int_\theta^1 \int_r^1 m(s) (b_1(s)g_1(s) + g_2(s)) ds dr d\theta \\
 &+ \int_0^1 \frac{\beta}{EI(\theta)} g_3(1) d\theta
 \end{aligned}$$

hence

$$f_3(1) = -\frac{\chi}{1 + \alpha \int_0^1 \frac{d\theta}{EI(\theta)}}.$$

Thus we obtain:

$$\begin{aligned}
 \forall 0 < x < 1 \quad f_3(x) &= -\int_0^x \frac{1}{EI(\theta)} \int_\theta^1 I_m(r) (b_2(r)g_3(r) + g_4(r)) dr d\theta \\
 &- \int_0^x \frac{1}{EI(\theta)} \int_\theta^1 \int_r^1 m(s) (b_1(s)g_1(s) + g_2(s)) ds dr d\theta \\
 &- \int_0^x \frac{\beta}{EI(\theta)} g_3(1) d\theta - \alpha f_3(1) \int_0^x \frac{1}{EI(\theta)} d\theta.
 \end{aligned}$$

Moreover f_1 can also be obtained by substituting the above expression of $f_3(x)$ into (17) and using the boundary condition $f_1(0) = 0$ to yield

$$f_1(x) = -\int_0^x \frac{1}{K(t)} \int_t^1 m(s) (b_1(s)g_1(s) + g_2(s)) ds dt + \int_0^x f_3(t) dt.$$

Thus $(\mathcal{A} + \mathcal{B})^{-1}$ exists and since $F = (f_1, f_2, f_3, f_4)^T \in D(\mathcal{A} + \mathcal{B})$ so $(\mathcal{A} + \mathcal{B})^{-1}$ is compact on \mathcal{H} according to the Sobolev’s Embedding Theorem.

Theorem 2 Let \mathcal{A} and \mathcal{B} be given by (9) and (10), then \mathcal{A} generates a C_0 -semigroup on \mathcal{H} . Furthermore, since \mathcal{B} is bounded, $\mathcal{A} + \mathcal{B}$ also generates a C_0 -group on \mathcal{H} .

Proof. See (Wang, 2004, Chapter 9, p. 167) for the detail of the demonstration.

Since the spectrum determined growth condition will later be shown to be true for $\mathcal{A} + \mathcal{B}$, the stability of (S) and (11) hinge on the behavior of the eigenvalues of $\mathcal{A} + \mathcal{B}$, and we are now in a position to study the eigenvalues problem.

Let $\lambda \in \sigma(\mathcal{A} + \mathcal{B})$ and $Y_\lambda = (\omega, z, \varphi, \psi)^T$, be an eigenfunction of $\mathcal{A} + \mathcal{B}$ corresponding to λ .

Then $(\mathcal{A} + \mathcal{B}) Y_\lambda = \lambda Y_\lambda$ implies

$$z = \lambda\omega, \quad \psi = \lambda\varphi$$

and that ω and φ must satisfy the following characteristic equations

$$\begin{cases} m(x) \lambda^2 \omega - (K(x) \omega')' + (K(x) \varphi)' + m(x) b_1(x) \lambda \omega = 0, & 0 \leq x \leq 1 \\ I_m(x) \lambda^2 \varphi - (EI(x) \varphi')' - K(x) (\omega' - \varphi) + I_m(x) b_2(x) \lambda \varphi = 0, & 0 \leq x \leq 1 \end{cases} \tag{18}$$

with boundary conditions

$$\begin{cases} \omega(0) = 0, & \varphi(0) = 0, \\ \varphi'(1) = 0, & \varphi(1) - \omega'(1) = 0. \end{cases} \tag{19}$$

For convenience, we let

$$\begin{cases} a_1(x) = \frac{K'(x)}{K(x)}, & r_1(x) = \sqrt{\frac{m(x)}{K(x)}}, \\ a_2(x) = \frac{EI'(x)}{EI(x)}, & a_3(x) = \frac{K(x)}{EI(x)}, & r_2(x) = \sqrt{\frac{I_m(x)}{EI(x)}}. \end{cases} \tag{20}$$

which has been stated in (Wang, 2004). Here $\frac{1}{r_1(x)}$ and $\frac{1}{r_2(x)}$ are usually called wave of the system (S) and not equal in general. Now (18) becomes

$$\begin{cases} \omega'' - \varphi' + a_1(\omega' - \varphi) - b_1 r_1^2 \lambda \omega - r_1^2 \lambda^2 \omega = 0, & 0 < x < 1, \\ \varphi'' - a_2 \varphi' + a_3(\omega' - \varphi) - b_2 r_2^2 \lambda \varphi - r_2^2 \lambda^2 \varphi = 0, & 0 < x < 1. \end{cases} \tag{21}$$

And if we let

$$\omega_1(x) = \omega(x), \quad \omega_2(x) = \omega'(x), \quad \varphi_1(x) = \varphi(x), \quad \varphi_2(x) = \varphi'(x), \tag{22}$$

$$\Phi(x) = (\omega_1(x), \omega_2(x), \varphi_1(x), \varphi_2(x))^T, \tag{23}$$

then (22) becomes

$$T^D(x, \lambda)\Phi(x) = 0, \tag{24}$$

where

$$\begin{aligned} T^D(x, \lambda)\Phi(x) &= \Phi'(x) + A(x, \lambda)\Phi(x) \\ &= \Phi'(x) + A_0(x)\Phi(x) - \lambda A_1(x)\Phi(x) - \lambda^2 A_2(x)\Phi(x), \end{aligned} \tag{25}$$

$$A(x, \lambda) = A_0(x)\Phi(x) - \lambda A_1(x)\Phi(x) - \lambda^2 A_2(x)\Phi(x) \tag{26}$$

and $A_0(x)$, $A_1(x)$ and $A_2(x)$ are three matrix functions see (Wang, 2004)

$$\begin{aligned} A_0(x) &= \begin{bmatrix} 0 & -1 & 0 & 0 \\ 0 & a_1(x) & -a_1(x) & -1 \\ 0 & 0 & 0 & -1 \\ 0 & a_3(x) & -a_3(x) & a_2(x) \end{bmatrix}, \\ A_1(x) &= \begin{bmatrix} 0 & 0 & 0 & 0 \\ b_1(x)r_1^2(x) & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & b_2(x)r_2^2(x) & 0 \end{bmatrix}, \\ A_2(x) &= \begin{bmatrix} 0 & 0 & 0 & 0 \\ r_1^2(x) & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & r_2^2(x) & 0 \end{bmatrix}. \end{aligned}$$

Under the same procedure, the boundary conditions (19) can be written as follows:

$$T^R\Phi(x) = W^0\Phi(0) + W^1\Phi(1) = 0, \tag{27}$$

with

$$W^0(\lambda) = \begin{bmatrix} 1 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix}, \quad W^1(\lambda) = \begin{bmatrix} 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & \frac{\alpha+\lambda\beta}{EI(1)} & 1 \\ 0 & -1 & 1 & 0 \end{bmatrix}. \tag{28}$$

We get the following result:

Theorem 3 *The characteristics equations (18) together with boundary conditions (19) are equivalent to the first order linear system (25) with boundary conditions (27).*

Proof. See (Wang, 2004, Chapter 2, pp. 24-25)

3. Asymptotic Behavior of Eigenfrequencies of System (S)

We want to find an asymptotic expression for eigenvalues of $\mathcal{A} + \mathcal{B}$. It is accomplished by expanding the characteristic determinant with asymptotic expressions of the fundamental matrix solutions of (25). A crucial step is an invertible matrix transformation which is very powerful in the sense that it can be applied to a lot other coupled problems as well, see (Wang & Yung, 2006), (Wang, 2004) and (Xu & Feng, 2002)

Theorem 4 For $\lambda \in \mathbb{C}$ with $|\lambda|$ large enough. the first order linear system (25) has fundamental matrix of solutions given by:

$$\widehat{\Phi}(\cdot, \lambda) = P(\cdot, \lambda)\widehat{\Psi}(\cdot, \lambda), \tag{29}$$

where $P(\cdot, \lambda)$ is invertible matrix defined by

$$P(x, \lambda) = \begin{bmatrix} r_1(x)\lambda & r_1(x)\lambda & 0 & 0 \\ r_1^2(x)\lambda^2 & -r_1^2(x)\lambda^2 & 0 & 0 \\ 0 & 0 & r_2(x)\lambda & r_2(x)\lambda \\ 0 & 0 & r_2^2(x)\lambda^2 & -r_2^2(x)\lambda^2 \end{bmatrix}, \tag{30}$$

and $\widehat{\Psi}(\cdot, \lambda)$ can be given by:

$$\widehat{\Psi}(x, \lambda) = (\widehat{\Psi}_0(x) + \mathcal{O}(\lambda^{-1}))E(x, \lambda), \tag{31}$$

with

$$E(x, \lambda) = \begin{bmatrix} \exp(\lambda R_1(x)) & 0 & 0 & 0 \\ 0 & \exp(-\lambda R_1(x)) & 0 & 0 \\ 0 & 0 & \exp(\lambda R_2(x)) & 0 \\ 0 & 0 & 0 & \exp(-\lambda R_2(x)) \end{bmatrix} \tag{32}$$

$$R_1(x) = \int_0^x r_1(\xi) d\xi, \quad R_2(x) = \int_0^x r_2(\xi) d\xi, \tag{33}$$

$$\widehat{\Psi}_0(x) = \text{diag}(C_1(x), C_2(x), C_3(x), C_4(x)), \tag{34}$$

$$\begin{cases} c_1(x) = \int_0^x (a_1(\xi) - b_1(\xi)r_1(\xi) + 3a_4(\xi)) d\xi, \\ c_2(x) = \int_0^x (a_1(\xi) + b_1(\xi)r_1(\xi) + 3a_4(\xi)) d\xi, \\ c_3(x) = \int_0^x (a_2(\xi) - b_2(\xi)r_2(\xi) + 3a_5(\xi)) d\xi, \\ c_4(x) = \int_0^x (a_2(\xi) + b_2(\xi)r_2(\xi) + 3a_5(\xi)) d\xi, \end{cases} \quad \begin{cases} C_1(x) = \exp\left(-\frac{1}{2}c_1(x)\right), \\ C_2(x) = \exp\left(-\frac{1}{2}c_2(x)\right), \\ C_3(x) = \exp\left(-\frac{1}{2}c_3(x)\right), \\ C_4(x) = \exp\left(-\frac{1}{2}c_4(x)\right). \end{cases} \tag{35}$$

Proof. for the details of the proof, See (Wang, 2004, Chapter 2, pp. 24-32).

Theorem 5 Let $\Delta(\lambda)$ the characteristic determinant of the first order linear system (25) with boundary conditions expression of (27), then an asymptotic of $\Delta(\lambda)$ is given by

$$\begin{aligned} \Delta(\lambda) &= \mu\lambda^6 \left(C_2(1)[1]_1 e^{-\lambda R_1(1)} + C_1(1)[1]_1 e^{\lambda R_1(1)} \right) \\ &\times \left(C_3(1)[1]_1 \left(\frac{\beta}{EI(1)r_2(1)} + 1 \right) e^{\lambda R_2(1)} + C_4(1)[1]_1 \left(\frac{-\beta}{EI(1)r_2(1)} + 1 \right) e^{-\lambda R_2(1)} \right), \end{aligned} \tag{36}$$

where

$$\mu = -r_1(0)r_2(0)r_1^2(1)r_2^2(1). \tag{37}$$

Thus, (25) and (27) are strongly regular, and so asymptotically, the eigenvalues of determinant characteristic $\Delta(\lambda)$ (36) are simple and separated.

Proof. The eigenvalues of the first order linear system (25) and (27) are given by the zeros of the characteristic determinant

$$\Delta(\lambda) = \det(T^R\Phi(\cdot, \lambda)), \quad \lambda \in \mathbb{C}, \tag{38}$$

where T^R is given by (27) and $\Phi(\cdot, \lambda)$ is any fundamental matrix solutions of the equation $T^D(x, \lambda)\Phi(x) = 0$. So, by substituting (29)-(35) into (38) together with the boundary conditions (27), we can obtain the asymptotic eigenfrequencies. Note that:

$$T^R\Phi(x, \lambda) = W^0P(0, \lambda)\Psi(0, \lambda) + W^1P(1, \lambda)\Psi(1, \lambda). \tag{39}$$

A computation using (28) (30) give us

$$W^0 P(0, \lambda) = \begin{bmatrix} r_1(0)\lambda & r_1(0)\lambda & 0 & 0 \\ 0 & 0 & r_2(0)\lambda & r_2(0)\lambda \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix},$$

$$W^1 P(1, \lambda) = \begin{bmatrix} 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & \frac{r_2(1)\lambda(\alpha+\lambda\beta)}{EI(1)} + r_2^2(1)\lambda^2 & \frac{r_2(1)\lambda(\alpha+\lambda\beta)}{EI(1)} - r_2^2(1)\lambda^2 \\ -r_1^2(1)\lambda^2 & r_1^2(1)\lambda^2 & r_2(1)\lambda & r_2(1)\lambda \end{bmatrix}.$$

Denote

$$[a]_1 = a + \mathcal{O}(\lambda^{-1}).$$

Since, $\widehat{\Psi}_0(0) = I$ and $E(0, \lambda) = I$, so a direct computation gives us

$$W^1 P(1, \lambda) \Psi(1, \lambda) = \begin{bmatrix} 0 & 0 \\ \lambda^2 [0]_1 e^{\lambda R_1(1)} & \lambda^2 [0]_1 e^{-\lambda R_1(1)} \\ -r_1^2(1) C_1(1) [1]_1 \lambda^2 e^{\lambda R_1(1)} & r_1^2(1) C_2(1) [1]_1 \lambda^2 e^{-\lambda R_1(1)} \\ 0 & 0 \\ 0 & 0 \\ \left(\frac{\beta r_2(1)}{EI(1)} + r_2^2(1)\right) C_3(1) \lambda^2 [1]_1 e^{\lambda R_2(1)} & \left(\frac{\beta r_2(1)}{EI(1)} - r_2^2(1)\right) C_4(1) \lambda^2 [1]_1 e^{-\lambda R_2(1)} \\ r_2(1) C_3(1) \lambda [1]_1 e^{\lambda R_2(1)} & r_2(1) C_4(1) \lambda [1]_1 e^{-\lambda R_2(1)} \end{bmatrix},$$

$$W^0 P(0, \lambda) \Psi(0, \lambda) = \begin{bmatrix} r_1(0)\lambda [0]_1 & r_1(0)\lambda [0]_1 & \lambda [0]_1 & \lambda [0]_1 \\ \lambda [0]_1 & \lambda [0]_1 & r_2(0)\lambda [0]_1 & r_2(0)\lambda [0]_1 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix},$$

and hence,

$$T^R \Phi(., \lambda) = \begin{bmatrix} r_1(0)\lambda [0]_1 & r_1(0)\lambda [0]_1 \\ \lambda [0]_1 & \lambda [0]_1 \\ \lambda^2 [0]_1 e^{\lambda R_1(1)} & \lambda^2 [0]_1 e^{-\lambda R_1(1)} \\ -r_1^2(1) C_1(1) [1]_1 \lambda^2 e^{\lambda R_1(1)} & r_1^2(1) C_2(1) [1]_1 \lambda^2 e^{-\lambda R_1(1)} \\ \lambda [0]_1 & \lambda [0]_1 \\ r_2(0)\lambda [0]_1 & r_2(0)\lambda [0]_1 \\ \left(\frac{\beta r_2(1)}{EI(1)} + r_2^2(1)\right) C_3(1) \lambda^2 [1]_1 e^{\lambda R_2(1)} & \left(\frac{\beta r_2(1)}{EI(1)} - r_2^2(1)\right) C_4(1) \lambda^2 [1]_1 e^{-\lambda R_2(1)} \\ r_2(1) C_3(1) \lambda [1]_1 e^{\lambda R_2(1)} & r_2(1) C_4(1) \lambda [1]_1 e^{-\lambda R_2(1)} \end{bmatrix}.$$

thus, we get

$$\Delta(\lambda) = \det(T^R \Phi(., \lambda))$$

$$= \lambda^6 \det \begin{bmatrix} r_1(0) [0]_1 & r_1(0) [0]_1 \\ [0]_1 & [0]_1 \\ [0]_1 e^{\lambda R_1(1)} & [0]_1 e^{-\lambda R_1(1)} \\ -r_1^2(1) C_1(1) [1]_1 e^{\lambda R_1(1)} & r_1^2(1) C_2(1) [1]_1 e^{-\lambda R_1(1)} \\ [0]_1 & [0]_1 \\ r_2(0) [0]_1 & r_2(0) [0]_1 \\ \left(\frac{\beta r_2(1)}{EI(1)} + r_2^2(1)\right) C_3(1) [1]_1 e^{\lambda R_2(1)} & \left(\frac{\beta r_2(1)}{EI(1)} - r_2^2(1)\right) C_4(1) [1]_1 e^{-\lambda R_2(1)} \\ r_2(1) C_3(1) [1]_1 e^{\lambda R_2(1)} & r_2(1) C_4(1) [1]_1 e^{-\lambda R_2(1)} \end{bmatrix}.$$

and so,

$$\begin{aligned} \Delta(\lambda) &= \lambda^6 \det \begin{bmatrix} r_1(0)[0]_1 & r_1(0)[0]_1 \\ -r_1^2(1)C_1(1)[1]_1 e^{\lambda R_1(1)} & r_1^2(1)C_2(1)[1]_1 e^{-\lambda R_1(1)} \end{bmatrix} \\ &\times \det \begin{bmatrix} r_2(0)[0]_1 & r_2(0)[0]_1 \\ \left(\frac{\beta r_2(1)}{EI(1)} + r_2^2(1)\right)C_3(1)[1]_1 e^{\lambda R_2(1)} & \left(\frac{\beta r_2(1)}{EI(1)} - r_2^2(1)\right)C_4(1)[1]_1 e^{-\lambda R_2(1)} \end{bmatrix} \\ &= -\lambda^6 r_1(0)r_2(0)r_1^2(1)r_2^2(1)\left(C_2(1)[1]_1 e^{-\lambda R_1(1)} + C_1(1)[1]_1 e^{\lambda R_1(1)}\right) \\ &\times \left(C_3(1)[1]_1 \left(\frac{\beta}{EI(1)r_2(1)} + 1\right) e^{\lambda R_2(1)} + C_4(1)[1]_1 \left(\frac{-\beta}{EI(1)r_2(1)} + 1\right) e^{-\lambda R_2(1)}\right). \end{aligned}$$

Thus, (25) and (27) are strongly regular, and so asymptotically, the eigenvalues of determinant characteristic $\Delta(\lambda)$ (36) are simple and separated.

We have the following result on the spectrum of $\mathcal{A} + \mathcal{B}$.

Theorem 6 *Let $\mathcal{A} + \mathcal{B}$ be given by (8)-(10), then each $\lambda \in \sigma(\mathcal{A} + \mathcal{B})$ is algebraically simple when $|\lambda|$ is large enough, and has asymptotic expression given by*

$$\lambda_{1k} = \frac{1}{2R_1(1)} \left(- \int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)} \right)^{\frac{1}{2}} d\xi + (1 + 2k)\pi i \right) + O(k^{-1}), \quad |k| \geq N_1, \quad k \in \mathbb{Z}, \tag{40}$$

where, for $0 < \beta < r_2(1)EI(1)$

$$\lambda_{2k} = \frac{\gamma_1}{2R_2(1)} \left(- \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)} \right)^{\frac{1}{2}} d\xi + (1 + 2k)\pi i \right) + O(k^{-1}), \quad |k| \geq N_2, \quad k \in \mathbb{Z}, \tag{41}$$

and for $\beta > r_2(1)EI(1)$

$$\lambda_{2k} = \frac{\gamma_2}{2R_2(1)} \left(- \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)} \right)^{\frac{1}{2}} d\xi + (2k)\pi i \right) + O(k^{-1}), \quad |k| \geq N_3, \quad k \in \mathbb{Z}, \tag{42}$$

where N_1, N_2 and N_3 are large enough positive integers, $R_1(1)$ and $R_2(1)$ of (33), given by

$$R_1(1) = \int_0^1 r_1(\xi) d\xi = \int_0^1 \left(\frac{m(\xi)}{K(\xi)} \right)^{\frac{1}{2}} d\xi$$

or

$$R_2(1) = \int_0^1 r_2(\xi) d\xi = \int_0^1 \left(\frac{I_m(\xi)}{EI(\xi)} \right)^{\frac{1}{2}} d\xi.$$

Furthermore, the assumptions (2) and (3) respectively imply that

$$Re\lambda_{1k} \rightarrow -\frac{1}{2R_1(1)} \int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)} \right)^{\frac{1}{2}} d\xi < 0, \quad \text{when } k \rightarrow \infty, \tag{43}$$

and for $0 < \beta < r_2(1)EI(1)$ and $\beta > r_2(1)EI(1)$:

$$Re\lambda_{2k} \rightarrow -\frac{\gamma_i}{2R_2(1)} \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)} \right)^{\frac{1}{2}} d\xi < 0, \quad \text{when } k \rightarrow \infty \text{ for } i = 1; 2. \tag{44}$$

Proof. If the characteristic determinant $\Delta(\lambda) = 0$, we get

$$\begin{aligned} &\left(C_2(1)[1]_1 e^{-\lambda R_1(1)} + C_1(1)[1]_1 e^{\lambda R_1(1)}\right) \times \\ &\left(C_3(1)[1]_1 \left(\frac{\beta}{EI(1)r_2(1)} + 1\right) e^{\lambda R_2(1)} + C_4(1)[1]_1 \left(\frac{-\beta}{EI(1)r_2(1)} + 1\right) e^{-\lambda R_2(1)}\right) = 0 \end{aligned}$$

which is equivalent to

$$C_2(1)[1]_1 e^{-\lambda R_1(1)} + C_1(1)[1]_1 e^{\lambda R_1(1)} = 0 \tag{45}$$

where

$$C_3(1) [1]_1 \left(\frac{\beta}{EI(1)r_2(1)} + 1 \right) e^{\lambda R_2(1)} + C_4(1) [1]_1 \left(\frac{-\beta}{EI(1)r_2(1)} + 1 \right) e^{-\lambda R_2(1)} = 0. \tag{46}$$

Equation (45), can be written as

$$C_2(1) e^{-\lambda R_1(1)} + C_1(1) e^{\lambda R_1(1)} + O(\lambda^{-1}) = 0. \tag{47}$$

By Rouch?'s Theorem, the roots of (47) can be estimated by those of

$$C_2(1) e^{-\lambda R_1(1)} + C_1(1) e^{\lambda R_1(1)} = 0,$$

which, using (35), yields

$$e^{2\lambda R_1(1)} = -\frac{C_2(1)}{C_1(1)} = -\exp\left(-\frac{1}{2}(c_2(x) - c_1(x))\right)$$

which roots are given by

$$\lambda_{1k} = \frac{1}{2R_1(1)} \left(-\frac{1}{2}(c_2(x) - c_1(x)) + \pi i + 2k\pi i \right), \quad k \in \mathbb{Z}, \tag{48}$$

with $c_1(x), c_2(x)$ defined by (35). Thus, the roots of (47) satisfy

$$\lambda_{1k} = \frac{1}{2R_1(1)} \left(-\frac{1}{2}(c_2(x) - c_1(x)) + (1 + 2k)\pi i \right) + O(k^{-1}), \quad |k| \geq N_1, \quad k \in \mathbb{Z}, \tag{49}$$

where N_1 is a large enough positive integer. We can repeat the same arguments for equation (46) and conclude for eigenvalues λ_{2k}

First case: $0 < \beta < r_2(1)EI(1)$

$$\lambda_{2k} = -\frac{\gamma_1}{2R_2(1)} \left(-\frac{1}{2}(c_4(x) - c_3(x)) + (1 + 2k)\pi i \right) + O(k^{-1}), \quad |k| \geq N_2, \quad k \in \mathbb{Z}, \tag{50}$$

for

$$\gamma_1 = \frac{r_2(1)EI(1) - \beta}{r_2(1)EI(1) + \beta} > 0$$

Second case: $\beta > r_2(1)EI(1)$

$$\lambda_{2k} = \frac{\gamma_2}{2R_2(1)} \left(-\frac{1}{2}(c_4(x) - c_3(x)) + (2k)\pi i \right) + O(k^{-1}), \quad |k| \geq N_3, \quad k \in \mathbb{Z}, \tag{51}$$

for

$$\gamma_2 = \frac{-r_2(1)EI(1) + \beta}{r_2(1)EI(1) + \beta} > 0$$

with N_2 and N_3 are large enough positive integers $c_3(x), c_4(x)$ defined by (35).

We can further simplify (49) and (50) by using (35) and (18) to conclude that

$$\begin{aligned} c_2(1) - c_1(1) &= \int_0^1 (a_1(\xi) + b_1(\xi) r_1(\xi) + 3a_4(\xi)) d\xi \\ &\quad - \int_0^1 (a_1(\xi) - b_1(\xi) r_1(\xi) + 3a_4(\xi)) d\xi \\ &= 2 \int_0^1 b_1(\xi) r_1(\xi) d\xi \\ &= 2 \int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)} \right)^{\frac{1}{2}} d\xi \end{aligned}$$

and

$$c_4(1) - c_3(1) = 2 \int_0^1 b_2(\xi) r_2(\xi) d\xi = 2 \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)} \right)^{\frac{1}{2}} d\xi.$$

Furthermore, the assumptions (2) and (3) respectively imply that

$$Re\lambda_{1k} \rightarrow -\frac{1}{2R_1(1)} \int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)}\right)^{\frac{1}{2}} d\xi < 0, \text{ when } k \rightarrow \infty, \tag{52}$$

and for $0 < \beta < r_2(1)EI(1)$ and $\beta > r_2(1)EI(1)$:

$$Re\lambda_{2k} \rightarrow -\frac{\gamma_i}{2R_2(1)} \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)}\right)^{\frac{1}{2}} d\xi < 0, \text{ when } k \rightarrow \infty \text{ for } i = 1; 2. \tag{53}$$

4. Riesz Basis Property and the Exponential Stability of the System (S) Under the Conditions $0 < \beta < r_2(1)EI(1)$ and $\beta > r_2(1)EI(1)$

We now ready to investigate Riesz basis property and the exponential stability of the system (11) under the conditions $0 < \beta < r_2(1)EI(1)$ and $\beta > r_2(1)EI(1)$.

Theorem 7 Let $\mathcal{A} + \mathcal{B}$ given by (8)-(10). Then generalized eigenfunctions of the operator $\mathcal{A} + \mathcal{B}$ of system (11) are complete in \mathcal{H} .

Proof. See (Wang, 2004, Chapter 9, p. 174) for the details of the proof.

Theorem 8 The system (11) is Riesz-spectral system (in the sense that eigenfunctions form a Riesz basis in \mathcal{H}) and so it satisfies the spectrum determined growth condition.

Proof. See (Wang, 2004, Chapter 9, p. 174) for the details of the proof.

We now ready to discuss the stability of the Timoshenko beam system (S). Under assumptions (2) and (3), the Theorems 9.3.3 and 9.4.2 imply that for each $\varepsilon > 0$ there are at most finitely many eigenvalues lying outside of two strips:

$$-\frac{1}{2R_1(1)} \int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)}\right)^{\frac{1}{2}} d\xi - \varepsilon \leq Re\lambda \leq -\frac{1}{2R_1(1)} \int_0^1 b_1(\xi) \left(\frac{m(\xi)}{K(\xi)}\right)^{\frac{1}{2}} d\xi + \varepsilon$$

and for $i = 1; 2$

$$-\frac{\gamma_i}{2R_2(1)} \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)}\right)^{\frac{1}{2}} d\xi - \varepsilon \leq Re\lambda \leq -\frac{\gamma_i}{2R_2(1)} \int_0^1 b_2(\xi) \left(\frac{I_m(\xi)}{EI(\xi)}\right)^{\frac{1}{2}} d\xi + \varepsilon.$$

We consider the important following result:

Theorem 9 Suppose that assumptions (8)-(20) hold.

1. If both $b_1(x)$ and $b_2(x)$ are non-negative and exist intervals I_1 and I_2 in $[0; 1]$ such that:

$$b_1(x)|_{I_1} > 0 \text{ and } b_2(x)|_{I_2} > 0$$

then the system (11) is exponentially stable.

2. If $b_1(x)$ and $b_2(x)$ are indefinite, then the system (11) is exponentially stable when conditions:

$$\max_{x \in [0,1]} \{b_1^-(x), b_2^-(x)\} < |s(\mathcal{A} + \mathcal{B}^+)|, \tag{54}$$

is satisfied.

Proof. We use the same reasoning in (Wang, 2004, Chapter 9, pp. 174-176) and (Xu & Feng, 2002) with

$$0 = Re \langle (\mathcal{A} + \mathcal{B}) Y_\lambda, Y_\lambda \rangle = -|\lambda|^2 \int_0^1 (m(x)b_1(x) |\omega|^2 + I_m(x)b_2(x) |\varphi|^2) dx.$$

and $Y_\lambda = (\omega, \lambda\omega, \varphi, \lambda\varphi)^T \in \mathcal{A} + \mathcal{B}$ and λ an eigenvalue of $\mathcal{A} + \mathcal{B}$.

5. Conclusion

The boundary feedback stabilization problem of a hybrid system has been studied extensively in the last decade. Many important results have been obtained. Among them, most of studies in the literatures are concerned with Euler-Bernoulli and Rayleigh beams; there are a few results for Timoshenko beams, we may cite the work of Akian (2022), (Feng et al, 2001), (Liping et al, 2019), (Nasser, 2011), (Nasser, 2013), (Wang, 2004, Chapter 9) and (Xu & Feng, 2002), which are

mainly focused on the stability of the closed-loop system. Though it is important to obtain the exponential stability of the system, it is also very interesting to study the rate of the exponential decay of the system. In our work, we obtain the exponential stability of the system under conditions.

In perspective, we can take an interest in condition $\beta = r_2(1)EI(1)$ by carrying out an asymptotic expansion to order 2 of the eigenvalues in order to study the exponential stability of the system.

Acknowledgements

We are grateful to Professor Gour?-Bi for the linguistic contribution he made in the writing of this article. We are grateful to the anonymous referees whose suggestions helped us to improve the quality of the paper. We would also like to thank every team member who took the time to participate in this study.

Authors contributions

Dr. Kouassi Ayo Ayébié Hermith was responsible for study design. Dr. Kouassi Ayo Ayébié Hermith drafted the manuscript, Professor Touré Kidjégbo and Dr Diop Fatou N'diaye revised it. All authors read and approved the final manuscript. The authors contributed equally to the study.

Funding

Not applicable

Competing interests

We declare that we have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

References

- Akian, J. L. (2022). Spectral analysis of a non-homogeneous rotating Timoshenko beam. *MATH NACHR*, 295, 422-449. <https://doi.org/10.1002/mana.201900177>
- Birkhoff, G. D. (1917). *Boundary value and expansion problems, Transactions of this society*, 9(1917), p.373. <https://doi.org/10.1090/S0002-9947-1908-1500818-6>
- Brezis, H. (2011). *Functional Analysis, Sobolev Spaces and Partial Differential Equations*. Springer. New York. <https://doi.org/10.1007/978-0-387-70914-7>
- Feng, D. X., Gen, Q. X., & Yung, S. P. (2001). Riesz basis property of Timoshenko beams with boundary feedback control. *IJMMS* 2003, 28, 1807-1820. <https://doi.org/10.1155/S0161171203011414>
- Guo, B. Z. (2005). The Well-posedness and Stability of a Beam Equation With Conjugate Variables Assigned at The Same Boundary Point. *IEEE Transaction on automatic control*, 50(12). <https://doi.org/10.1109/TAC.2005.860275>
- Huang, F. L. (1985). Characteristic condition for exponential stability of linear dynamical systems in Hilbert spaces. *Ann, Differential Equations*, 1, 45-56.
- Kato, T. (1976). *Perturbation Theory for Linear Operators*. Springer-Verlag, New-York.
- Liping, Z., Dongyi, L., & Gen, qi X. (2019). Stabilization of a Timoshenko beam system with a tip mass under unknown non-uniformly bounded disturbances. *IMA Journal of Mathematical Control and Information*, 37, 241-259. <https://doi.org/10.1093/imamci/dny048>
- Merizio, I. F., Chavarette, F. R., Moro., T. C., Outa, R., & Mishra, V. N. (2021). Machine learning Applied in the Detection of Faults in Pipes by Acoustic Means. *J. Inst. Eng. India Ser. C*, 102, 975-980. <https://doi.org/10.1007/s40032-021-00682-y>
- Nasser, E. T. (2011). Stabilization of a viscoelastic Timoshenko beam. *Applicable Analysis*, 93, 27-43.
- Nasser, E. T. (2013). Exponential decay for a viscoelastically damped timoshenko beam. *Acta Mathematica Scientia*, 33, 505-524. [https://doi.org/10.1016/S0252-9602\(13\)60015-6](https://doi.org/10.1016/S0252-9602(13)60015-6)
- Outa, R., Chavarette, F. R., Mishra, V. N., Gonçalves, A. C., Garcia, A., Pinto, S. Da S., Rathour, L., & Mishra, L. N. (2022). Analysis and Prognosis of Failures in Intelligent Hybrid Systems Using Bioengineering: Gear Coupling. *The Journal of Engineering and Exact Science-jCEC*, 8(1), 13673-01.
- Outa, R., Chavarette, F. R., Gonçalves, A. C., Silva, da S. L., Mishra, V. N., Panosso, A. R., & Mishra, L. N. (2021). Reliability analysis using experimental statistical methods and AIS: application in continuous flow tubes of gaseous medium. *Acta Scientiarum . Technology*, 43(1), e55825, pp. 1-19. <https://doi.org/10.4025/actascitechnol.v43i1.55825>

- Pazy, A. (1983). *Semigroups of Linear Operators and Applications to Partial Differential Equations*. Springer-Verlag, New York. <https://doi.org/10.1007/978-1-4612-5561-1>
- Pandey, S., Rajawat, R. S., & Mishra, V. N. (2023). Approximation properties of modified Jain-Gamma operators preserving linear function. *Palestin Journal of Mathematics*, 12(2), 169-182.
- Raiz, M., Rajawat, R. S., Misra, V. N., & Mishra, L.N. (2023). Approximation on bivariate of Durrmeyer operators based on beta function. *The Journal of Analysis*. <https://doi.org/10.1007/s41478-023-00639-7>
- Renardy, M. (1993). On the type of certain C_0 -semigroups. *Comm. Partial Differential Equations*, 18, 1299-1307. <https://doi.org/10.1080/03605309308820975>
- Roefero, L. G. P., Chavarette, F. R., Outa, R., Merizio, I. R., Moro, T. C., & Mishra, V. N. (2022). Optimal Linear Control applied to a non-ideal capsule system with uncertain parameters. *J. Appl. Math. Inf.*, 40(1-2), 351-270. <https://doi.org/10.14317/jami.2022.351>
- Touré, K. A., Coulibaly, A., Kouassi, H. A. A., & Adou, J. K. (2016). Exponential stability of variable coefficients Rayleigh beams with a indefinite damping under a force control in moment and velocity. *Far East Journal of Applied Mathematics*, 99, Issue 7, pp. 993-1020. <http://dx.doi.org/10.17654/MS099070993>
- Touré, K. A., Coulibaly, A., & Kouassi, H. A. A. (2015). Riesz basis, exponential stability of variable coefficients Euler-Bernoulli beams with a indefinite damping under a force control in position and velocity. *Electronic Journal of Differential Equations*, 2015(54), 1-20.
- Wang, J. M. (2004). Riesz basis property of some infinite-dimensional control problems audits applications. *The HKU Scholars Hub*. The University of Hong Kong.
- Wang, J. M., Xu, G. Q., & Yung, S. P. (2004). Exponential stability of variable coefficients Rayleigh beams under boundary feedback control: a Riesz basis approach. *Syst. Control Lett.*, 51, 33-50. [https://doi.org/10.1016/S0167-6911\(03\)00205-6](https://doi.org/10.1016/S0167-6911(03)00205-6).
- Wang, J. M., & Yung, S. P. (2006). Stability of a nonuniform Rayleigh beams with indefinite damping. *Syst. Control Lett* 55, 863-870. <https://doi.org/10.1016/j.sysconle.2006.04.002>
- Wang, J. M. (2003). Spectral operators generated by partial differential equations of one dimensional spacial variable. *Proc. Chinese. Control Conf.* (Yichang), 400-404.
- Xu, G. Q., & Feng, D. X. (2002). The Riesz basis property of a Timoshenko beam with boundary feedback and application. *IMA Journal of Applied Mathematics*, 67, 357-370. <https://doi.org/10.1093/imamat/67.4.357>

Copyrights

Copyright for this article is retained by the author(s), with first publication rights granted to the journal.

This is an open-access article distributed under the terms and conditions of the Creative Commons Attribution license (<http://creativecommons.org/licenses/by/4.0/>).